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= X 4 .z,né; -Fiﬁﬁb(z)o)ﬂﬁﬁﬁ jj(gilgcf)é R 4 ‘Fiaﬁgégg;ki .z,n-f jj(gzljcn%é X 4 ,Z,né)f J:mﬁb(z)ott.a jj(gilicn%é X 4 J:.lﬁ'ﬁfJ(z)o)ttlsl 'Zlné)( jif,iﬁi*
’ 100kN/mM%Z#B% % 1.00/0.00 ~ 3.20 151.11|3m%#E%%|0.00 ~ 0.55| 3.34 17.50| 100kN/m#%# 2% 1.00| 11.29 ~ 2879 151.11|3m%#8% %[ 25.00 ~ 28.79| 3.34 17.50
ZNLUS 1.00| 3.20 ~ 10.98 100.00f Zhlu4t [ 055 ~ 10.98] 3.00 15.73 LS 1.00] 500 ~ 11.29 100.00] #h st | 500 ~ 25.00] 3.00 15.73
5 100kN/mM%Z#B% % 1.00/0.00 ~ 285 145.17|3m%#E%%|0.00 ~ 0.63| 3.40 17.84| 100kN/m%E#B 2% 1.00| 11.65 ~ 26.00 145.17|3m%#8% %[ 20.00 ~ 26.00| 3.40 17.84
ZHUS 1.00| 285 ~ 10.64 100.00f #hlu%t [ 063 ~ 10.64] 3.00 15.73 ZHLS 1.00] 500 ~ 11.65 100.00] Zx kst | 5.00 ~ 20.00f 3.00 15.73
3 100kN/mM#Z#BZ % 1.00/ 000 ~ 244 138.23|3m%i#Bx5[ 000 ~ 0.13] 3.09 16.20| 100kN/m%E#E 2% 1.00| 12.18 ~ 23.78 138.23|3m%#8% %[ 20.00 ~ 23.78| 3.09 16.20
ZHUS 1.00| 2.44 ~ 10.23 100.00f #h 4t [0.13 ~ 10.23] 3.00 15.73 ZHLS 1.00] 500 ~ 12.18 100.00] Zx st | 500 ~ 20.00f 3.00 15.73
4 100kN/mM%Z#B% % 1.00/0.00 ~ 148 12255(3m%#B%%(000 ~ 043| 3.34 17.52| 100kN/m%E#B 2% 1.00| 1524 ~ 23.35 122.55|3m%#8% %[ 20.00 ~ 23.35| 3.34 17.52
ZHUS 1.00 148 ~ 927 100.00f #hlust 043 ~ 9.27| 3.00 15.73 ZHLS 1.00] 500 ~ 1524 100.00] Zx st | 5.00 ~ 20.00f 3.00 15.73
5 100kN/mM#Z#B% % 1.00[0.00 ~ 222 134.49|3m%i#B%%[000 ~ 020 3.15 16.50| 100kN/m%E#B 2% 1.00| 12.71 ~ 23.35 134.49|3m%#8% 5[ 20.00 ~ 23.35| 3.15 16.50
ZnUS 1.00| 2.22 ~ 10.00 100.00f #hlu%t [0.20 ~ 10.00f 3.00 15.73 ZHLS 1.00] 500 ~ 1271 100.00] Zx kst | 5.00 ~ 20.00f 3.00 15.73
6 100kN/m%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -| 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
ZHUS 1.00/ 000 ~ 6.61 83.41| #hust [000 ~ 661| 1.81 9.51 ZHLS 1.00] 500 ~ 8.00 83.41] #huls | 500 ~ 8.00| 1.81 9.51
7 100kN/mM%Z#B% % 1.00/0.00 ~ 0.78 111.65(3mZ#BRH| - ~ = = -| 100kN/ %82 % 1.00| 1397 ~ 17.12 111.65[3m%#B %5 o ~ = = =
ZnLs 1.00{0.78 ~ 857 100.00f Z1List | 000 ~ 857| 2.85 14.97 znLst 1.00f 500 ~ 13.97 100.00] Zhidst | 5.00 ~ 17.12| 2.85 14.97
8 100kN/mM#Z#BZ % 1.00/0.00 ~ 244 138.25|3mZ#ZBH| - ~ = = -| 100kN/mZE#B 2% 1.00{ 11.16 ~ 21.38 138.25|3m%i#B %% = ~ = = =
ZnLs 1.00]2.44 ~ 10.23 100.00f ZhList | 0.00 ~ 10.23] 2.94 15.42 znLst 1.00f 500 ~ 11.16 100.00f #hList | 5.00 ~ 21.38] 2.94 15.42
9 100kN/m#%#BZ % 1.00/0.00 ~ 256 140.24|3m%EB %% a ~ = = -| 100kN/mM%E#Z% 1.00] 10.66 ~ 21.45 140.24|3m%HBZ % = ~ = = =
ZnLs 1.00] 2.56 ~ 10.35 100.00f ZhList | 0.00 ~ 10.35| 2.81 14.74 znLst 1.00f 500 ~ 10.66 100.00| Zhilst | 5.00 ~ 21.45| 281 14.74
10 100kN/m#%#BZ % 1.00/0.00 ~ 2.72 142.84|3m%EHBZ 5 a ~ = = -| 100kN/mM%E#Z% 1.00] 10.61 ~ 2269 142.84|3m%EHB %% = ~ = = =
ZnLs 1.00] 2.72 ~ 10.50 100.00f ZH1List | 0.00 ~ 10.50] 2.79 14.62 znLst 1.00f 500 ~ 10.61 100.00] Zhdst | 5.00 ~ 2269 2.79 14.62
11 100kN/m#%#BZ % 1.00/0.00 ~ 2.62 141.12|3m%EHBZ 5 a ~ = = -| 100kN/mM%E#Z% 1.00] 10.61 ~ 23.77 141.12|3m%E#BZ% = ~ = = =
ZnLs 1.00] 2.62 ~ 10.40 100.00f ZH1List | 0.00 ~ 10.40| 2.63 13.81 znLst 1.00f 500 ~ 10.61 100.00] Zh A4t | 5.00 ~ 23.77| 2.63 13.81
12 100kN/m#%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
ZnLs 1.00{0.00 ~ 452 56.40| Zh L4t 1000 ~ 0.00| 1.57 8.21 ZznLst 1.00f 500 ~ 5.00 56.40| Zn iyt | 500 ~ 500 1.57 8.21
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zh s ~ Zh s ~ Zh LS ~ Zh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zh s ~ Zh s ~ Zh LS ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZHN LS ~ ZThLLSE ~ FHLSE ~ T IO0)) ~
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